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QUESTION 1

You install a new FAS26xx HA system with ONTAP 9.5 at a customer\\'s site. After cabling the SAS cables, the
customer wants to cable Alternate Control Path (ACP). But the FAS26xx has no physical port for ACP.

Which statement is correct in this scenario?

A. Within a FAS HA system, the ACP function is established over the cluster interconnect

B. To reach the ACP function, you should put the ACP cable into one of the onboard Ethernet pons.
C. The ACP function is established over the customer network.

D. Beginning with ONTAP 9 software. ACP cabling for disk shelves is no longer required.

Correct Answer: D

QUESTION 2

You are performing an automated upgrade of a 2-node cluster. Node-01 upgrades successfully. But during the node-02
upgrade, there is a power outage at the site. When power is restored and the nodes are booted, you receive this
message: Warning: The Cluster is in a mixed version state. Update all of the nodes to the same version as soon as
possible.

In this scenario, which command provides information that will help you understand the problem?

A. system node upgrade show-task-status

B. system node image package show

C. system node upgrade-revert show

D. system node image show

Correct Answer: B

QUESTION 3

Which two configurations use root-data-data partitioning? (Choose two.)
A. FAS8080 with 1.8 TB external SAS drives

B. AFF A800 with 3.8 TB internal NVMe SSD drives

C. FAS2650 with 1.8 TB internal SAS drives

D. AFF A220 with 3.8 TB internal SSD drives

Correct Answer: AB
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QUESTION 4

You have a 4-node FAS8060 cluster. You are using the vol move command to relocate a volume from an aggregate on
node 1 to an aggregate on node 4.

In this scenario, which network is used for the traffic being relocated?
A. the node management network

B. the HA interconnect

C. the intercluster network

D. the cluster interconnect

Correct Answer: D

QUESTION 5

Which two commands verify that AutoSupport is working as expected?
A. autosupport test show

B. autosupport history show

C. autosupport check show D. autosupport show

Correct Answer: B
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